
Chapter 71, pages 659-662 1. < 3. <
E2125ll7ll35olll:' 3' 17'7' 15 " tst't 56
ll. increases 13. decreases 15. 0.4 n. 3.55

ts. o.i4s n. I 8. ff zs. o.ozts

27. o.6n zs. f,,1;$ * n 33. s2

3s. ro4 37. 0.8 3s. o.t2 n. I nt. $
4s. + 47.4\/n 4e. r2\/i sr. so\/,
$. 4\/n ss. zt\/6 s7. -28.3 59.91.7
6r, t3lml 63. 5x21./5 65. -6ltl
67. -t2lxyl\/u 69. _2.2w2 

".o'o:f
.n. + 7s. Ef 77. ta - 2t 7s. {-7, i}
rt. {-i,i} tr. {-3, 3} ss. {-1r.5, u.5}
87. {-6.6,6.6} 89. 9.43 91. ll.l8
93. 22.36 95. 18.03 97. no 99. no
101. no 103. 30 105. 14 lO7. 72\/t,r.+ n. + :rr3. ttf
tts. n2 +3\/i rtl. 4\/1 lts.7\/6
tzt. -so\/1 t1,43,. 2\/t - +
1;2s. 2+ * + w. rc\/a - *o
t2s. 3\/TS '6t. -2s 133. l8 + 8\/,
t3s. 34 - 24\/t 

'37. 
2o\/5 - 24\/'

t3g. 252 + ln\/,
,or. *z + tfi + Zt/s + t/E 

"t. {*}
ror. {*} A7. {83} r4e. {3} rsr. {f}
1s3. {45}

Chapter 12, pages 662-664 t. {-+,+}
3. no solution 5. {-4, 4} 7. {-\/a,\/a}
e. {-e, -1} tr. {-4 + t1J, -q - r/11
13. {-i + t/n, -i - \f2t

15. t ]6,+\ 17.{-1,13}
19. {- 15, -t} 2t. {e + lzq6, o - t/z+ol
12t.7. -e.71,s. lt:f. -Pl,
{4.2, -1.2} 2s. {3,'t} 27. {r, -+}
zt. {2, -}l ,r.{-'*r{n,+l
{-0.5. -6.5} rr. tt *f .+1,
{5.5, -0.5} ,t. {t,3}
3?.t.!-ff-.#)'{03,-06}
3s. {rt fr , -Fj'{7.3, -0.3}
41. -l3l:' none 43. -11.76; none 45. 5; two
47. a. zero b. below 49. {-3, -4}
sr. {0, i} s3. {-4 + trrl -q - tfnt

[ -z + t/to -z - Vrol5!'t- 6 ' 6 l
l++z./v q-z\t:tl

"''i s ' s I
se. {tro, +}
at. {-s 

*-vn , -t i*} 63. length,

22.2cm; width, 3.7 cm 65. 14m 67. hr2 -- k

6e. L: krh 71. $ = tc

EXTBA PBACTICE: Prohlen'Solving

Chapter I, page 665 (1-7) l. 225 km
3. 8 games 5. 19

Chapter 2, page 665 (2-3) l. 38 yd 3. $205
5. 10:00 e.rvr. (24) l. 2.52'C 3, 28 blocks
5. 397 m below sea level

Chapter 3, page 666 (3-l) l. -18 3. 58
5. $747 (3-2) l. -34 3. 569 5. 12 cm
(34) l. 12 3. $124 5. 8 quarters, 12 dimes,
16 nickels (3-5) l. -9 and -8 3. 12 5. '1,

9, ll (3-6) l. Kevin, 18 h; Karen, 6 h 3- 60
5. Becky, 6; Ryan, 4; AmY, 2 dimes
(3-7) l. 13 quarters, 35 dimes 3. 7.5 h 5. 36
quarters

Chapter 4, page 668 (44) l. 2.5 h
3, 2400 km 5. 7:00 p.rvr. (4-9) l. 7 m bY
ll m 3. 5mby 9m 5. 60cmbY70cm
(4-10) l. no solution 3. no solution 5. -5,
-4, -3
Answers to Selected Exercises




